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SLOPE FOIMULd

ESSENTIAL QUESTION: HOW Cd 1 USE THE SLOPE FOrMmuLd TO FIND SLOPE From 2 POINTS?

AGENDa Warm'UP

Warm-up COMPLETE THE EXPLOTATION IN YOUr
exproratioml  SLOPE BOOK (UNDEr THE FOrMuLd TdB).

HW CHeCK EXPLOFTION: TO INVESTIGATE d SHOITCUT FOT FINDING THE SLOPE OF a
Line.

NOTES (SLOP@| 1 wraristHe rise erom point ATo pOINT B2 y
BOOK) 2. WHaTIS THE FUN FrOm POINT A TO POINT B?

HOMEWOIK | 3 wharistHesiore of THe ez
RemlnDerS 4. EXPLAIN HOWYOU COULD Have FOUND THE 1Se BY USING ONLY

THE J*CO0rDIndaTes Of THe TWO POINTS, WITHOUT SeeinG THe
TesT corrections GraPH.

Due BY 4:15PM

5. FXPLAIN HOW YOU COULD Have FOUND THe FUN BY USING ONLY
BATHrOOM PaSSES THE X.COOrDINATES OF THE TWO POINTS, WITHOUT SeeInG THe
Due TMR GraPH.

SLOPE QUIZ TMR

5 10
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Practice —Slope from a Table

Marme
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P eriod

Date

Find the rate of change on the following tables.

1
|y|34|3? 41|43‘

EN O = R

Mo oMo

4. Given the following graphs, make a table of values and find the rate of change.

2), make a table and determine the slope.

1) and {4,

-2,

]

5. Given the two points

Ir two hours & bus fravels 100 miles while in three hours 5 bus fravels 150 miles. Fill in the table, including what the

independent and dependent variables are for this situation. Find the slope and explain what it represents for this

situation,

B,
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ESSENTIAL QUESTION: HOW Can | uSe THe SLOPe FOrmuLd TO FIND SLOPE From 2 POINTS?
o d g V
C

EXPLOIGTION: TO INVESTIGATE d SHOITCUT FOr FINDING THE SLOPE OF d
Line.
1. WHATISTHE r1Se From POINT ATO POINT B? ". y

2. WHATISTHE TUN From POINTATO POINT B? {,

3. WHATISTHE SLOPE OF THe LIne?

2
W= &—S—E - I:i = _?;
v N b
4. EXPLAINHOWYOU COULD HaVe FOLUND THE r1Se BY USING ONLY

THe J*CO0rDinaTes Of THe TWO POl !E W]THOUT SE@IHG THE

GraPH. (/2
\j"\la\“ts — 5 10"
5. EXPLAINHOWYOU COULD HAVe FOUND THe run By USING OnLy
THe X-CO0rpindTes OfF THE TWO POINTS, WITHOUT SEeING THe

GIaPH. 4 %, 9, SV
o X2 \\eS

| GIVeN TWO POINTS (XY, anD (x,Y,) FIND THE SLOPe (M) 1
. |
! Slepe Formula: M= Y=Y, _ RISE - %_ :
| .
. Yo =%, RUN X :
h s om s mm s mm o mm s mr r o= s mm s e s e - mE s EE I EE I EE I EE I EE o o mm o
DeTermine THe SLOPE OF THE LIN@ THAT PasSes THrOLGH @aCH SeT OF POINTS.,

1. (2,3)and( 97 2. (-32,-4)and (55,-1)

\
V) (-3.5, *\) and .25, -\

Kk ? me -::@ 2 {\z
575-139 835 \36

3. (-54)and (-5.-1) 4. 1(10.8). (-6.-2) and (-14,-7)
Xy W W YL Ty vy *IPloe 2

~\-4 ~2. - —2-9% _ -
= \/@‘ , e /—‘_w—\o‘:@
-5 Vhotened:

5. (-2,3)and (8,3)
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DeTermine THe SLoPe OF THE LINe THAT PasSes THIOUGH €aCH SeT Of POINTS.

6. fe it DR A s e o e oy I
— y(l 1 | s/] 11| 13
: : - AV #\}/ \/
ey ik Sl
__________________________________ M= = = 7
------------- Y (0,)) and (2,5)
- 0, 2)20d ()
W\‘-‘% (Xt ‘3\ X2

m=-5-0 3
8. THE GI'dPH SHOWS HOW MUCH WaTer IS IN d reServolr at DIFFRrenT TIMeS. FIND THe SLOpe

OF THE LINe anb_EXPLAINANHAT THE SLOPE represents 3 ’v—
2006) 20 (6, 260°
(20, 9, ) Yo 92 W

/ %‘ 3000 (20, 3000)
B - 2000 - \pDD _—25 EZSOO
m-'?%_ZO = 40 T ) 3o (60, 2000)

2 1500

N e
-Evev hb\,v, W&CY TM g 0 10 20 30 40 50 60

deUEICES bY 25 Pransand FH—

DETETINeTHE VAL OFSQHe e Tha PSSesTHOUGH ea P POTTS Has THe
aivenstope. POYNT—SIOEL - Y= Y1 =M U,

9. (9. andi(6:3) m=—- : (3,4) an =2
A=\ = —‘|3‘<U“q> avxes?:grm?ég 5
3-v="1(2)
-y =
— -3
- Hr= -
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Algebral - Lhit 3

Each graph or table shows a linear relationship. Find the slope
=h 10.
¥
82
76
70
£
2 | 58

g Ll TR [ 23

Identify the independent and dependent variables, then find the slope of each line and tell what it

represents.
10 . . » . " 24
’ . £ 20
. .I-'n.ij:- E 16
6 E’* 12
Z . (30, 10)
£ T s
' (2. 4) i 4
3
5 ¢ 10 20 30 40 50
Time (days)
2 3 4 s &
Boxes Sold
Independent variable: Independent variable:
Dependent variable: Dependent variable:
Slope: Slope:

%\During the last four years, Jimmy visited 26% of the S0 states in the US. How many states did he visit?
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Answers:
1
1. —-=
3
2. Undefined -
1 11. Independent: boxessold
3. B Dependent: profit
0 m= g2
4. = Slope represents a profit of $2 that was made for
eyery box sold
5 16
17 12. Independent: time (days)
6. O Dependent: height {cm)
f.or=1 i
8. r=3 =5
a, -2

& plant grows 1 cm every 2 day

—
o
o] =
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